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Quiz 8
November 12, 2010

Math 372 (Dynamical Systemns), Section 1

1. Let T be the tent map. Recall that 7™ has 2™ fixed points. How many orbits of size 4 does

T have? Explain.
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2. Consider a discrete dynamical system given by a function F: R — R, F(z) = 2 — 2z + 2.

e Determine the fixed points
F(x)= x
X=2 X 42=X
Y —3y+2 =0 = XK=+l , X= 4+

o Classify fixed points as attracting or repelling by looking at the deivative of F(x).
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e Verify your answer in previous part using the graphical iterations method.
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B (4,F)= (o2).




